

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro



If $f: [0, 1] \rightarrow [0, \infty)$ such that $\int_0^1 f(x) dx = 1$,

$$I_1 = \int_0^1 \frac{x^2 + x + 1}{x^2 + 1} \cdot e^{\tan^{-1}x} dx, I_2 = \int_0^1 \left(x - \int_0^1 t f(t) dt \right)^2 f(x) dx$$

Then prove: $I_1 \geq e^{\pi I_2}$

Proposed by Florică Anastase-Romania

Solution 1 by Adrian Popa-Romania, Solution 2 by proposer

Solution 1 by Adrian Popa-Romania

$$I_1 = \int_0^1 \frac{x^2 + x + 1}{x^2 + 1} \cdot e^{\tan^{-1}x} dx \stackrel{\substack{\tan^{-1}x=t \\ dt=\frac{dx}{1+x^2}}}{=} \int_0^{\frac{\pi}{4}} (\tan^2 t + \tan t + 1) e^t dt$$

$$I_{11} = \int_0^{\frac{\pi}{4}} e^t \tan t dt \stackrel{IBP}{=} e^t \tan t \Big|_0^{\frac{\pi}{4}} - \int_0^{\frac{\pi}{4}} e^t (1 + \tan^2 t) dt = e^{\frac{\pi}{4}} - \int_0^{\frac{\pi}{4}} e^t (1 + \tan^2 t) dt$$

$$I_1 = I_{11} + \int_0^{\frac{\pi}{4}} (1 + \tan^2 t) dt = e^{\frac{\pi}{4}} - \int_0^{\frac{\pi}{4}} e^t (1 + \tan^2 t) dt + \int_0^{\frac{\pi}{4}} e^t (1 + \tan^2 t) dt = e^{\frac{\pi}{4}}$$

We must to prove:

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$e^{\frac{\pi}{4}} \geq e^{\pi I_2} \Leftrightarrow I_2 \leq \frac{1}{4}$$

$$I_2 = \int_0^1 x^2 f(x) dx - 2 \int_0^1 x A f(x) dx + A^2 \int_0^1 f(x) dx;$$

$$A = \int_0^1 t f(t) dt$$

$$I_2 = \int_0^1 x^2 f(x) dx - 2A \int_0^1 x f(x) dx + A^2 \underbrace{\int_0^1 f(x) dx}_{=1} =$$

$$= \int_0^1 x^2 f(x) dx - 2 \left(\int_0^1 x f(x) dx \right) \left(\int_0^1 x f(x) dx \right) + \left(\int_0^1 x f(x) dx \right)^2 =$$

$$= \int_0^1 x^2 f(x) dx - \left(\int_0^1 x f(x) dx \right)^2 \stackrel{(?)}{\leq} \frac{1}{4} \Leftrightarrow$$

$$4 \int_0^1 x^2 f(x) dx - 4 \left(\int_0^1 x f(x) dx \right)^2 \leq 1 \Leftrightarrow$$

$$4 \left(\int_0^1 x f(x) dx \right)^2 - 4 \int_0^1 x^2 f(x) dx + 1 \geq 0$$

$$x \in [0, 1] \Rightarrow x^2 \leq x \Rightarrow x^2 f(x) \leq x f(x) \Rightarrow -x^2 f(x) \geq -x f(x)$$

$$4 \left(\int_0^1 x f(x) dx \right)^2 - 4 \int_0^1 x^2 f(x) dx + 1 \geq 4 \left(\int_0^1 x f(x) dx \right)^2 - 4 \int_0^1 x f(x) dx + 1 =$$

$$= \left(2 \int_0^1 x f(x) dx - 1 \right)^2 \geq 0$$

Solution 2 by proposer

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\begin{aligned}
 I_1 &= \int_0^1 \frac{x^2 + x + 1}{x^2 + 1} \cdot e^{\tan^{-1}x} dx = \int_0^1 \left(1 + \frac{x}{1+x^2}\right) \cdot e^{\tan^{-1}x} dx = \\
 &= \int_0^1 e^{\tan^{-1}x} dx + \int_0^1 \frac{x}{1+x^2} \cdot e^{\tan^{-1}x} dx = \\
 &= x \cdot e^{\tan^{-1}x} \Big|_0^1 - \int_0^1 \frac{x}{1+x^2} \cdot e^{\tan^{-1}x} dx + \int_0^1 \frac{x}{1+x^2} \cdot e^{\tan^{-1}x} dx = \\
 &= x \cdot e^{\tan^{-1}x} \Big|_0^1 = e^{\frac{\pi}{4}}; \quad (1)
 \end{aligned}$$

$$\begin{aligned}
 \int_0^1 \left(x - \frac{1}{2}\right)^2 f(x) dx &= \int_0^1 \left(x - \int_0^1 tf(t) dt + \int_0^1 tf(t) dt - \frac{1}{2}\right)^2 f(x) dx = \\
 &= \int_0^1 \left(x - \int_0^1 tf(t) dt\right)^2 f(x) dx + 2 \int_0^1 \left(x - \int_0^1 tf(t) dt\right) \left(\int_0^1 tf(t) dt - \frac{1}{2}\right) f(x) dx + \\
 &\quad + \int_0^1 \left(\int_0^1 tf(t) dt - \frac{1}{2}\right)^2 f(x) dx = \\
 &= \int_0^1 \left(x - \int_0^1 tf(t) dt\right)^2 f(x) dx + 2 \left(\int_0^1 tf(t) dt - \frac{1}{2}\right) \int_0^1 \left(x - \int_0^1 tf(t) dt\right) f(x) dx + \\
 &\quad + \int_0^1 \left(\int_0^1 tf(t) dt - \frac{1}{2}\right)^2 f(x) dx \geq \int_0^1 \left(x - \int_0^1 tf(t) dt\right)^2 f(x) dx
 \end{aligned}$$

Hence,

$$I_2 = \int_0^1 \left(x - \int_0^1 tf(t) dt\right)^2 f(x) dx \leq \int_0^1 \left(x - \frac{1}{2}\right)^2 f(x) dx \leq \frac{1}{4} \int_0^1 f(x) dx = \frac{1}{4}; \quad (2)$$

From (1), (2) we get: $I_1 \geq e^{\pi/4}$